8. With reference to.consumers * rights/

privileges under the. prev isions of
taw in Indid, which of the following
statements isfare correct?

1. Consumers are empowersd to
take samples for food testing.

2. When, a .consumer files a
compldaint i -amy <consumer
forurm, no fee s required o be
paid.

4 In case ofdeath of a consumer,
his/her legal heir can file a
complaint in  the consumer
forum on hisf her behali

Gelect the.correct answer using the

sodes given below °

fa}. 1 only

by 2 and 3 only

“fe) ¥ and 3 only

fd} 1,2 and 3

9, Regarding the :}fi“me o

10. Which ‘of the followlng are-included

in the original jurisdiction. of the
Supreme Court?

i, A  dispute Tbetwsen the
Government of Indis and one
gr more States

2. A dispute regarding elections
fo either House of the
Parliament  oF thet of
Lﬁ:gxsla‘ture of a State

3. A dlspute bﬁtwem the

Union Ternmry

4. A dispute between fwo ar more

States

Select the ﬁ ‘a\élswer wsing the

0 esa} landg

2 and 3

Speaker, con '( HﬂwmpB O" 6 o Land4
o lan

state g
;é & Holds th rmg

the pleasure -::-f the President.

5. ‘HefShe need not be a member
of the House .at the time of
his Jher electiol but has o
becorne a member of the House
withini six, moriths from the
date of his/her slection.

3. If hefshe intends to resign, the
letter of his/ber resignation
Has b he addressed to the
Deputy Speaker.

Which of the siatements given

above is/are correct?
fa} I and 2 only
w3 oniky

fo) 1,2 and 3

{d} None
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fd} 3 and 4

i1, Consider the following kinds of

Grganisms |

1. Bacteria

2. Fungi

3. Fiowering plants

Some species of which of the above.

Jinds of ‘organisms are -employed

ag biopesticides?
faj 1 oniy

fhi 2 and 3 only
fet 1 andd 3-omly
() 1,2 and 3



12, Bicmass gagilication is donsidered to
be pie of the sustainable sulubions
ta the power erisiz in India, In this
context, which of the following

stateroents ls/are otrect?

1. Koconul shells, groundnul
shells and rice husk can be

used in blomass pasification.
2. The  rcombustible  gases
genérated  fram binfmass
gasification consist of hydragen
and carbon <dinkide only.
2. The
genﬁr&tﬁci _fr‘r_:}m-

. comhustible FR3eS
biﬂmasa

Rl mtemai mmt}_ustmn

eRgines.
SEEW* 'thf; f;{}rrcf:i answer using the
__{t:z} I only
b} 2 and 3 only
fof 1 and 3 ounly
i} 1, 2 and 3-\6\|\|

groM

13, What 15?& %¥ of ﬂltl’“&l afgf]e

radiation in the water purification

- Bystems?y

1, 1t inactivates/kills the harmiul
-microorganiams in water,

2. It removes all the undesirable
odours from the water.

3. I oguickens the sedimentation
of solid particles, yémabves
turbidity and Cimproves the
clarity of water.

"é‘ihidh of th& statﬁments given

{-:::ﬁ 1 aniy

bl 2 and 3 only
o 1 and 3 only
fdi 1, 2 and 3
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i, It s a8 twe di’fﬂvi}i&i_ﬁ_ﬁiﬂ

matedial  and  has’  godd
electrical conductivity,

%, It is ome of the thinnest but
strongest miiterials tested so
far,

3. iz entivély made of silicon
zng has high  .optical
trapsparency.

4. i can be used as ‘vonducting
clectrodes’ reqiired for touch
sereens, LUDs end  organie
LEDs.

Which of the statements given
above sre COITe
{1 ?a@@a

es@- ani 4 ani}f.

I % and 4 only

80‘5&} 1, 2.8 and 4

A8, Lead, ingested or inhaled, s health
hazard. After the addition of lead 1o
pe;trﬁl l'ias bem 'Ir.:uamied Wbﬂt' stili
1. Bmeliing units
2. Pgns and pﬁﬂﬁls
3. Puints |

4.  Hair oils and cosmetics

faf 1, 2 and 3 only
Ay 1 and 3 aniy:
fep 2 and 4 only
fdi 1,2 Fand 4
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24. ‘The Napara, the Dravida and fhe
Vesara dre the

{a) three main raciai groups of the
Indian subcontinent

(b} “three miain lnguistic divisions
inte which the langusges of
India can be classified

fe} three main styley of Indian
temple arehitecture

{d} ~three. main musical Gharanas
prevalent in fmdia

because \, \Piﬁv e
P(e P 20
{aj the Congress could not form

ministries in the other four
PrOvinces

fb) emergence of a Teft wing in the
Congress made. the working of
the ministries impossibie

o} there were  widespread
communal  disturbances. in
their provinces

fd] ‘None of the seatements faj, {b}
and {c} given above is correct
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26 With reference g Natmnal Rural

o1eS%;

28. The Cangress ministri wﬁ _% 5
“in the sew:n IQEKA' G

14

Health Mission, which of the

following are the Jobs of 'ASHA' =
trained, community health wnrkm‘?

1. AcCompanying women to the
health facility for antengial
care checkup

2. Using pregnancy test kits for
early detection of ‘pregnancy

3. Providing  infermation  on
nutrition and Aimmunization.

4. Cenducting the déii?er}f of
baby

Sefect the sorrect answer Using the.

codes givern helow :

fal 1, 2 and 3 \{y

g o

el and 3 oniy:
1,2, 3 and 4

hich. of the following is/are
the principal featurels) of the
Governmént of India Act, 15197

1o Introduction of dyarchy in the
executive government of ‘the
pravinees

2. Introeduction af separate

Cominaial clectorates  for

Muslims

3.  Devolution of legislative
authority by the centré to the
previnees

Seleet the correct answer using the

codes given biélow :
{a/ 1 only

(bt 2 and 3 only
fci 1 and 3 uny
fed). 1, 2 and 2
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62.. The increasing ameount of carbon
dioxide in the air js stowly raising
the temperature of the-atmosphere;
because it absorbs

{d} the water vapour of the air and
- retains its hesat
{b} the uliraviolet part of the solar
radiation

{e} all the solar radiations

) the infrared part of the solar
radiation

€3, Which one of the fallowing sets of
elements was primarily responsible
for the erigin of life on the Earth?

faj Hydrogen, Oxygen, Sodium

tbj. Carbon, Hydrogen, Nitrogen

fef Oxygen, Calcidrn, Phosphoriis

;"&j_ Carbon, Hydrogen, B@tasmu‘-nN

64. What are the reaso; qf‘txﬁgemg
rmmtmmﬁ% troduc:t
m dia?‘ < Se

1. Bt brinjal has been created by
inserting a gene from a soil
fungus into -its genome,

2. The seeds of Bt brinjal are
vterminator seeds and therefore,
the farmers have to buy the
seeds before every season from
the seed companies.

3. There is an apprehension that
the consumption of Bt brinjal
gy have adverse mmpact on
health.

4. There is some coneemn that 1he
imtroduction of Bt brinjal, roay
have. adverse effect on the

biodiversity.
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Seleet the correct answer uging the
codes given below

fo} 1,2 and 3 only
{bj 2 and 3 only
fo! 3 and 4 only

fdj 1,2, 3 and 4

65, Other than resistarice to pests, what
are. the gmspﬁ{:’ts” for 'whli:h

heen created? \)\L

\'@ gg!bie ‘them to withstand.

tesla' drought.

O 5@9 increase the nutritive value

of the produce

4. T& incréase their shelf life

Select the cortedt answer nsing the
codes given below -

fa}- 1 and 2 only
B} 3 and 4 enly
fei 1,2 and 4 only

idi 1,2, 3 and 4
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